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5 Ball Game

(7 points / 13 points)

Time Limit: 1 second
Memory Limit: 256 MB

Statement

Sakura and Momo are playing a game. Initially, there are [N balls on the table, numbered sequentially
1,2,..., N from left to right. Momo will perform M operations in sequence, which can be one of the
following two types:

e Swap the ball at position a with the ball at position b

e Give Sakura an amount of money equal to the number written on the c-th ball

Now, Momo tells you the sequence of operations she will perform. Please tell her how much money Sakura
will earn in total.

Input Format

The first line contains two positive integers IN and M, representing the number of balls and the number of
operations.

The next M lines each represent an operation, which can be in one of the following two formats:

¢ 1 a; b;, which means swapping the ball at position a; with the ball at position b;

¢ 2 ¢;, which means giving Sakura the amount of money equal to the number on the ball at position ¢;

Note that Momo will perform these M operations in sequence.

Output Format

Output a single integer, representing the total amount of money Sakura will earn.

Constraints

2 < N <10°
1<M<10°
1<ajbj,c; <N
e a; #b;

Subtasks

e Subtask 1:2 < N < 10°(7 points)

e Subtask 2: No additional constraints (13 points)

Test Cases
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Illustrations

In the first example, initially the balls are numbered [1, 2, 3, 4]. After:

e The first operation, the balls are [1, 3, 2, 4].

e The second operation, Momo gives Sakura 3 dollars.
e The third operation, the balls are [1, 3,4, 2].

e The fourth operation, the balls are [2, 3,4, 1].

e The fifth operation, Momo gives Sakura 2 dollars.

Thus, the total money Sakura earns is 5 dollars.
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